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 �
� !�"# !� �$�% �� &'�� ��(�% �)�� !� �
� .�� !���� +$���
,� -�. �� /� 0�1  &
2�� �� �3$ �$
45 &6,�

7� 8(�%9 �
� �0�# 0)�( '�:  �
� )0 
� 61
� !�1�0 �) ;��.  

 �� &��� !�4 �� +�� �� =�>�  �
� ?$ �
���� �8
@�1�  �
� 0().  

   

A�:  ��"�
$
� )0 8(�% B:
C  &
�5  )0 8�D5(�� ���� � !��� )�E%�� �F
$) ( !$
� G�"� B�#�� �)� 00�%.  

+$� !"H�� �� 
$
� ��"� A�: I�
1 ��� ��� �
��� ( ����� �
��� �����	 '�� ����	.  

1( �� ����	 K(� '�7C )0 G�6# �� &
2�� 8(�% 6$
� ��� ;�� !� ( 80��5 �6. !L��M0 �� �) 0�� !� N���� ����	 �)�� &0��D5� 

B"O� �1���	 )��� �	��� (0�� �)  �
�� �6� )015 !Q:
O� !R�C0 6,$
�5 ( !� �S
� 65)
T7�. 

2( ����	 G(0 '�7C�  I�
115 K��� ��7� 5 !,$E% U
�# B:
O� �� &�  861 �M�Q� -�
,� ( ��)0 &
� !# '���5�0  !� �����	

 ��(�% �)���	 !� ��  �
� 
� 6,�0. 

3( �W�  �
� I�
1 ��
��� G�� !� �$�% 10K���  ��7�5 !,$E% !# '�� &� !�� &
2�� 8(�% !� ?�# X� ( 
� !� 0
,��� 

B:
O� �1���	 !# )0 �W� I@C !Q:
O� 80�# 65� !� �	 
�  �
� �� 6,�0. 

 �#Y�1 .��� �� �3$ !Q:
O� !� GE"� 8(�% &
2�� �� ?$ �� ����	 �� 
�  U�7>� ����	 )0 Z"W� �)�� +$� ��[ )0 ( 6,1
�

�� 0�1.  

 �#Y�2 .�
,L  !L ��(�%4 ��� !Q:
O� �� 8(\� 8(�% &
2�� �� �3$ 61
� 8�D5 7� 0�� !� N���� ����	9��� '�:  ����	5  �� E�5 �)

0)�0 864�.  

 �#Y�3 .�
,L  ��(�% !L3 �� 8(�% &
2�� �� �3$ 61
� 8�D5 7� 65���9��� !Q:
O� '�:  ����	4  �
]� 8(�% ( 0��^� 864��� �)

��� !Q:
O� !�  ����	5 ��5 61
�.   

 �#Y�4 . �
� G
^,� �
�9� !� �$�%�  !� �
�5.-� &)(	 ��� ����	 �5�0 �� 
� ��5 �����	 61
�.  
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���  ����	1  
��
� �� ��� ������ ���  ���� �2  

��
��� �ax bx c+ + =2 0 � �
 �� ��  �a≠0  �c,b,a � 
������ ��  �
 �!"#$ ���� %&��' .��
��� )�!*  ��

��
��� +& �,�
 �  �� -����  .�
 
/0. 1�� ��
��� +& 2� ���3 �45"6� ��$ �,�
 �  2  
/,�
��
 .7����  1�� )&�8

��
��� 2� ���3 �,�
 ��$  2 �� �"�
 1�� �0�3 .  

b c
ax bx c x x

a a
+ + = ⇒ + + =2 20 0   

b b c b b c
(x ) (x )

a a a aa a
+ − + = ⇒ + = −

2 2
2 2

2 2
0

2 24 4
   

b b ac b b ac
(x ) x

a aa a

− −
+ = ⇒ + =±

2 2
2

2 2

4 4

2 24 4
   

b b ac b b ac
x

a a a

− − ± −
⇒ =− ± =

2 24 4

2 2 2
   

�� ��9  :�3 ;3��� �� �/< ��=$ >�/, ?�!$
 @� �!8��A� ��
��� )&� ��$ :  

b b ac

a

− + −2 4

2
  �

b b ac

a

− − −2 4

2
  

�3  C��A� b ac−2 4���	 D�E&
�� �&@ �� �� 4' �"�
 ?
��'�� �" � � /& 7�� �3 � 
/0∆ -
�
 ��9  ?FG� +*/� H5I� ��A0 ��

�� 
/0.  

��  D�E&
�� �&@ C��A� �& 
�� �'� �� %� �
)�K, ��/=�� (
���  ����� >�/, D�E&
�� �� ?�0�3 �4!� . �'� MN

b ac∆= −2 4 +*/� ��
��� ?�0�3 �4O @� �8 �,�
 �  �9&� �	�P .�
 FG� ����� ��$.  

 �
 �8�/O  ��∆=0 ��
��� ?�0�3 �,�
 �  �9&� �� �3 Q��RSO� �� FG� ����� �9&� +& ����
 ;�P �
 ��T� �U  �"4'

�� 
/0 ..�  )&� F5� F���� �
 ��
��� >�/, �
 �$ �'� �� FG� �� ���K' �,�
 �   ;3��� @� �� .�

b

a

− + ∆

2
  �

b

a

− − ∆

2
 �3  �3 ?%&��� FG


b

a
−

2
 �� %�G� .)&� �
 -V�� @� �/�!� �, �9&� �
/3 ����E8 ?U��T� � FG�$ .  

 �� �"��� �
∆>0 ��
��� ?�0�3 �,�
 �  �9&� �
 ����
 .�
 &�="� ����� ��� W �0�3 .  
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D�I�1 :��
���  �x x+ + =2 2 10 0 �9&� �	�P FG� ����� � .  

a , b , c= = =1 2 10   

b ac ( )( )∆= − = − = − =− < ⇒ ∆<2 24 2 4 1 10 4 40 36 0 0   

D�I�2 :��
���  �x x+ + =2 8 16 0 �9&� ����
  U��T� �x=−4 FG� .  

a , b , c= =+ =+1 8 16   

b ac ( )( )∆= − = − = − =2 24 8 4 1 16 64 64 0   

b
x x

a ( )

− +
= =− =− =− ⇒ =−

8 8
4 4

2 2 1 2
   

D�I�3 :��
���  �x x− + =22 5 3 0 �9&� �
 ����
 FG� W&�="� ����� �.  

a ,b ,c b ac ( ) ( )( )= =− =+ ⇒∆= − = − − = − = ⇒∆=2 22 5 3 4 5 4 2 3 25 24 1 1   

b
x

a

b
x

a

 − + ∆ + + = = =∆> ⇒
 − − ∆ − = = =

1

2

5 1 3

2 4 20
5 1

1
2 4
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��� ����	2  

����������  �!" #�  �$ ���� ���  1  

���Y!$ �5=,�!* F�R� )���8 HZ3 �� �� �� [�N �$ �3 ��\"� @� ��&
��� �
�� ���N �/�!� ?�&�  �
 �"P� ���

�5=,�!* �� ��@� �3 �� FG� �� �5=,�!* F�R� �$ �� �4!� �& FAI� �� 
/0 . )���8 �3 ]/3�� HZ3 �� )&� @� 2A	

�5=,�!* F�R� ��  �$%�!� @�^� ��?  -@�3 
�/� �
 �8 FG� .@:)�5O�P(  %�$
 �_��� �� �8�Z�`/8 .  

��/=a� �A {x|x , x }= ∈ − < <ℝ 3 5 ��  �
 �� �&��Y3 . �3 ����� 
���� �/Z� ��� ��/=a� )&� [&�= 

FG� �&@ C�/O:  

 1 0  2  3  4  5-1-2-3  6
  

��/=a� �Y&
 C��A� �3 �A -�!$
 ��9  � �"G
 �� � @� �� FG� ����� 
���� @( )−3 b�W3  @� � �8( )+5 

+*/� � �8 .��/=a� �
�
 ��9  ���3 W�  ��Y&
 1�� �A 
��
 
/,� .cA<  )&��� 1�� ��/=a� ��/8 �A  �3 ��

2E0( , )−3 5 
�
 ��9  W�  .�� -
�4"G� W" ��N � �0��� @� 1�� )&� �
 
/0 .D�I� �� �&@ ��$� �3 �"d3 �� 1�� )&� 
�3

�� ��9  �=0 $
!� :  

B {x|x , x } [ , )= ∈ ≤ < →2 9 2 9ℝ   

C {x|x , x } ( , ]= ∈ − < ≤ → −4 0 4 0ℝ   

D {x|x , x } [ , ]= ∈ − ≤ ≤ → −5 1 5 1ℝ   

  

�� �&� �� )&� @� -
�4"G� �3 �� �/8��/=a� 1 ��${ }E x|x , x= ∈ < ≤4 18ℝ �F {x|x , x }= ∈ < <0 2ℝ  ��

 f��!� g69�  

��/=a� ��$�/63 �� ��!� h�P D��  �M {x|x ,x }= ∈ ≥ 3ℝ ��$
 ��9  �� .�� �* f��!�  

�3 
�=  @� ��� )&� .�a � ���3 3 �� F&�d � ∞ �� -
�
 ��9  /0�� -
�4"G� 
 %�!� .%�$�/63 �'�M  -@�3 C�/O �3 ��

)�5O�P ( W" ��N @� -
�4"G� �3 ��� ?%�!� g69� �0��� %�#&/!3 %� �/8 :  

M [ , )= +∞3   

D�I� �3 ��!� �,/8 �&@ ��$:  

S {x |x , x } ( , )= ∈ <− → −∞2 2ℝ   

T {x|x ,x } ( , )= ∈ >− → − +∞4 4ℝ   

U {x|x ,x } [ , )= ∈ ≥ → +∞8 8ℝ   

L {x|x ,x } ( , )= ∈ < → −∞5 5ℝ   
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6 

�5=,�!* F�R� )���8 HZ3 �3 �/!�� �� �,�
 ��$ 1 �� %&@�
�N .  

�5=,�!* �$ �,�
 ��  1  @�x �3 ��  C�/OP(x) ax b= + �� ��9   �� �
 �� %�$
a ≠0 FG� . F�R� �&@ D��,

P(x) �� ��9  �� �$
:   

  

 ��@� �3 �� FG� )&� :�3 D��, �!��
b

x
a

=− �����P(x) �� �4O �3��3 
/0 .�8�/O �
  ��
b

x
a

>−  ?�0�3P(x) 

 �9�=$%$ �3 F�R�a �8�/O �
 � �� 
b

x
a

<− ?�0�3P(x) F�R� �3 U��6� �"�R� -��/=$a  �$�/iF0�
 .  

D�I�1 :C��A�P(x) x= +2 6 ��!� F�R� )���8 ��.   

  
�� ��9  :�3 D��,  �"	� �� �$
x>−3  ?�0�3P(x)>0 �8�/O �
 �  ��x<−3  ?�0�3P(x)<0  ?�0 �$�/i

 ��, �3 �'� �� �!�� )&� �3x  C��A� �
x+2 6 b�W3 
�� �$  @� �8)3 - ( �3 �'� � FAI� -��/=$ 2O�� ?%�$
 ���	 ��

 ��,x  C��A� �
x+2 6 +*/� 
�� �$  @� �8)3- (�0 �$�/i �4!� �9�=$ 2O�� ?%�$
 ���	 �� .  

D�I�2 :�5=,�!* ��P(x) x=− +4 1 �� ��!� F�R� )���8.  

  
�!* F�R� )���8 @� -
�4"G� �3 �5=, �� �� �$ C�A� @� �i�3 F�R� ��/8 �!* �& �&/' ��$ �5=, �� �,�
 ��$  �� �8:�3 ��$

�3 
��� FG
 .  

��!� �,/8 �&@ D�I� �3.  

  
#
%��: ��!� ��#48 �� :�3 D��, . 
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��� ����	3   

���  �!" #���� ���� �$ ���� ���  � ()  

�!* �'� �5=,  .�
 �,�
 ��P(x) ax bx c= + +2 �!* )&� F�R� )���8 @� �/�!� ?%&��Y3 ��  �
 �� �5=,  �� ��

 @� �&�$����� �* ��@� �3 %�!�A3 �� FG�x�!* ? �5=, �� �4O �& �4!� ?FAI� -�0 -
�
 �� 
/0 .  

D�I� ��/!� �3: �!* �5=, �� �,�
   .�
P(x) x x= − +22 3 1 �&��Y3 ��  �
 �� .��  �"	� �� 
�
 ��9  ��/8

x< <
1

1
2

  ?�0�3P(x) FG� �4!� -��/=$ . )�3 �
�� �$ �'� �� FG� �!�� �� �3 �"4' )&�
1

2
  �1 ��, �3x  �


 C��A�x x− +22 3 1 
/3 �$�/i �4!� -��/=$ 2O�� ?
/0 �"0�K' . %$ �'�x=
1

2
  �&x=1  ?�0�3P(x)=0 

�0 �$�/i .W�  C:�� �&�G �
P(x) �$�/i FAI� 
/3 .  

���  �!" #���� �$%� ���� �$ ���� ���   *� +)� )� �$ ()� �%, -��./0$ �$�� :  

1- �&Wa8 1��  

2- �!* F�R� )���8 D��, �5=, �� �,�
 ��$  2   

�
12� +)�:  

�!* �� FG� .�a � 23�	 ��	/� �&Wa8 1�� @� -
�4"G� �5=, �0�3 �&Wa8 23�	 -�0 -
�
 .�
 �,�
 �� .� -
�4"G� �32O�� @  >�`

F�R� �!* ��$ �5=, �� �,�
 ��$  2O�� @� �� ���� �� >�` �!* �$ �5=, �,�
 �� 2 �3 �� FG
 �� ?�&�  )���8 2=� ��/8


�
 .�a � �� F�R� .�� �/�!� )&� ���3 %$ @� �� �/8  �/�@� [�N �� 
/i �$��'2 �&��Y3 +=� ?FG� -� �/i �� .  

 �!" #���� 3)�� �$ -��./0$ +)� ��� ���� �$ ���� ��� 2:  

 �"�
 ����� �3 �,/8 �3) [�N �
 �� �/�@� 1 FG� -�0 -
�
 k�`/8 �� 
�/� �
 (l&�` �x2 ��  F�R� )���8 2=� ��/8


�
 .�a � �� .  

4�$ (0∆ <: �!* F�R� C�/O )&� �
 �5=, �,�
 ��  2 R� �3 -��/=$l&�` F�x2  )&� �
 ?�Y&
 C��A� �3 ?
/3 �$�/i �E&

�5=,�!* C�/O  �4!� �9�=$ �& FG� FAI� �9�=$ �& -�0 -
�
 .�
 �,�
 ��)��5� ��@� �3 ���3 -�0 -
�
 �&
��� �x .(  

D�I� ��/!� �3: �!* �
 �'� �5=,  .�
 �,�
 ��x x+ +2 1 ��, �3x  �
�� Q��S	 2O�� ?��$
 ���	 �� ����� 
�� �$

�0 �$�/i FAI� � �!* �
 �5=,  ��x x− + −22 5 10 
/3 �$�/i �4!� -��/=$ 2O�� .)&� l��,  )&� �
 �� FG�,

m�$ F��� �=  %$ �4O >�/, �3 -�' %�G�.  
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7 (0∆ =: �!* C�/O )&� �
 �5=,  ��P(x) ax bx c= + +2  ��@� �3
b

x
a

=−
2

 �� �4O �3��3  ��@� �3 � 
/0

�&
��� �&�Gx %$  �3 F�R�a )l&�` �!�&x2( �� 
/0 .  

8 (0∆ >:  C�/O )&� �
P(x) ax bx c= + +2  ��@� �3
b b ac

x
a

− + −
=

2 4

2
  �

b b ac
x

a

− − −
=

2 4

2
 

�� �4O ���#� 
/0 .  

 F�R�P(x) )&� �
 
/3 �$�/i �&@ D��, c3�S� F���:  

  

  

  

#
%��: 3 D��,�!* 
�/� �
 �� �� � -
�� ��#48 �� :� �5=,  .�
 �,�
 ��x x− +22 5 3 ��$
 .�a � .  
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��� ����	4  

*�:0  

�� ��
��� �� �� �
 �Z4O �
 FG�� ;i +& � �3 C�n"6� �  C�/Oy ax b= + �� �
 �� FG�a �b   

�3 �!"#$ ;i o�A� @� h�� � l�0 l�8�8 .� @� �S�  �
 C�n"6� FG� �P�� W�  FG�� ;i +& ��
/=  %G� ���3  �� �

%�0�3 �"0�
.  

�S3�� �� �
 �� FG� ���
/=  �=dG  )�3 �x �y F#�  �Si C�/O �3 .  

��
��� =dG +& � C�/O �3 �y ax bx c= + +2 FG� . ?%�!� %G� C�n"6� -�Y"G
 �
 �� �=dG +& ��
/=  �'�

 2E0 �3 ��
/=    �&    �0 �$�/i .��
��� %� �/"3 �� )&� ���3 �3 �� �=dG +& �  FG


 2	��� ?%&��� �3%&��
 @��  �=dG @� �S�  �G C�n"6� .  

-
�G ��
/=  �&@ 2E0  �=dG )&�8 �!�&y x= 2 �� ��9  �� �$
 :  

  

��=$ �� -�$�9� �� �/< 
��
 ��! �� �!Z!� F��� � F#�  FG�� ;i +& 2E0 �3 �Y&
 �=dG +& ��
/=  ?
/0.  

F0�
 �,/8 �&�3 pRSO� �!* �3 �=dG +& 
�/� �
 :  

1 - �<=> *�:0 ?�
1,�� �
 ?����� � :�S�  @� �/�!� G +& %=�!�� ��S�  �=d  �� @� �=dG ��
/=  �� FG� ��

)�&�N �=  �8 
�� . ��S�   �=dG %=&W��� ��S�  W�  ��  �� FG��=  �8:�3 �� @� �=dG ��
/=  �&� .)&� �� ���/G  �,  

�� [�N =�!�� ����
 F	� �* �=dG +& �� %�=d43 �a� @� �� FG� )&� ?�&�%  fFG� %=&W��� ����
 q	/� �* �  

 l&�` F�R� �3 �&�3 [G�N )&� �3 rG�N ���3a ��
��� �
  �!�& �=dG �y ax bx c= + +2 
�� �,/8 .  

�'�a>0 �!�� ����
 �=dG ?�0�3=% � �8�/O �
  ��a<0  �=dG ?�0�3����
  %=&W���FG�.  
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�S�  C�n"6� �
�� ���N ���3  ��, �3 FG� �P�� �=dG %=&W��� �& %=�!�� �x  �����
b

a

−

2
  ����� �8 ��$
 ���	 ��y 

�3 �&� FG
.  

D�I� : �=dG %=�!�� C�n"6�y x x= − +22 8 1 �3 ��  FG
�&��� .  

2� :  

a , b , c= =− =+2 8 1   

b
x y ( ) ( )

a

−
=− =− = ⇒ = − + = − + =−28

2 2 2 8 2 1 8 16 1 7
2 4

   

�S�  C�n"6� MN @� FG� C��A� �=dG )&� %=�!�� � :
 
 
 − 

2

7
   

2- *�:0 ���=� ����: �S�  @� �� FG� �Si �=dG ����8 �/Z� @� �/�!� �� �=dG %=&W��� �& %=�!�� �  � 
�K'


 �3 �� �� ����"� � ���#� F=#	 �);i �3 FA#  (�� %�#�8 �!� .��
���  �=dG ����8 �/Z� �y ax bx c= + +2 

 @� FG� C��A�
b

x
a

=−
2

 .  

D�I� :��
���  �=dG ����8 �/Z� �y x x= − +25 6 4 �3 �� �&��� FG
 .  

2� :  

a , b , c= =− =+5 6 4   

b
x x

a
=− = = ⇒ =

6 3 3

2 10 5 5
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���  ����	5   

������  �����A�  ��B 7�/C �� ?�=/D� EF �)�  ,%G ��  "%0 )   

3 ��  �
 �� ���Z"�YFG� F��� D�� �
 F3�s >�"0 �3 %��"#� ;i +& ��� �� �&�� . �3 
/i ./5� t�
 @�

�&��
 �&�!0� >�"0 ./d4� .C����\8 @� FG� C��A� >�"0 ?U&��8 cA<  �3 �"� 1���� � ���@ ���� �
 F��G

�� �s ��Ka�
m

( )
s2

 FG� .F�=� �
 �$ F��G � >�"0  @� � �!"#$ W�  Fd, ����
 ����� �3 -�R� �� �!"#$ �&�$

 )&���� �3 � F�=� �$ �� �"4' ���
�3 ��$ 
/0 . �3 �� >�"0a �� ��9  %�$
.  �
 �=#, F��� �� �8�/O

�8�!8 Q�A8�� 9�3 ���@ F0K' �3 �� F��G � 
/0�� ?
/0 �"  >�"0 �a�"  �
 � -
/3 -� /0 �!8 F��� �� %�&/'


/3 �$�/i FAI� �� F��� �� ?�3�& [$�� ���@ F0K' �3 Q�A8�� %#, F��G �'� ���  -� /0�!� F��� �� %�&/'

 � -
/3a<0  �$�/i
/3.  

F#�  ��#E& �� F��� Fd, �3 u�Z"� +& >�"0 ��
�3 Q���W�� �� F0�
 �,/8 �"E  )&� �3 �&�3 �"A�� .  

D�I� ��/!� �3:  F��G �3 �� �&��Y3 ��  �
 �� ���Z"�
m

s
20 �/Z� FAI� Fd, �
xFG� F��� D�� �
 �$ . ��d'� 

G u�Z"� )&��� %� �� ["�� �!� .��Z� �8 u�Z"� )&� F��� Fd, �* �'�  FAI� Fd, �
 ��!v=$ ?U	/8 �

�/Z�x�/Z� Fd, 7Ri �
 [3�"0 ��� ?FG�$xFG�$ .  

�� �/Z� ��� �� u�Z"� %#, +& ��E� �� 
�
 ��9  ��/8x �$ F3�s >�"0 �3a �S3�� @� ?FG� F��� D�� �
  �&@ �

�3 �� FG
 �&� :  

x at V t x= + +2
0 0

1

2
   

�S3�� �
  :�3 �x -�!$
 ��9  u�Z"� ��E� � )l#��3m( ?t  ���@)�� �s l#��3( ?V0  ����� F��G)l#��3
m

s
 

 ���@ �
t =0 ( �x0 ����� ��E�  u�Z"� �)��Z� �
 �"� l#� �3  �t =0 (�!"#$ .  

��
��� )�!v=$ Z"� F��G ��S3�� @� W�  ���@ l#� �3 u� �3 �&@ � �� FG
 �&� :  

V at V= + 0   
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kg1

kg2 F N

 سوالات عمومی

1. -���� �� #�C�� �0 �$ I,%� #�C�� J
  ���20% K80%  )50% �/F�0  0$ -�C .     IM,%� #�MC�� #M
$ -���M�  

 N 0$ �O�� ���  

1 (20    2 (80    3 (50  

4 (8    5 (16   

2. �<=> ���P Q!/F$ %
� RAC ��  �A ���, ��� $�� ���P ) N 0$ 3�A0�� ) 0$ -��� -���F��C��  �DT(. 

1 (6/13    

2 (136    

3 (130    

4 (60    

5 (m�$ .���  

  

3. > )� ��
	%� �)%�8N  )5N ($�,  %
� ���)%�> �$ J
*�> �>$��  N�C��  

1 (N7     2 (N3     3 (N12   

4 (N108     5 (N2   

4. ��:/>$����  3�U �� */F$��A
 �2  %/� ) ��)30N ��A� J
 �)� ��$� �$%T -�V .�)%�>1F   -�$�M>$ �M,  �	 �100 

*� ��$) ���� �$�	 ��:/>$ �� K 0$ #���> ��C .�)%�>2F ���� �C�� #���> ���     N�M>���  M��B ��MF ��M� %0 ��

)���)%�>1F )2F �>���" ���� %�(.  

1 (8  

2 (45  

3 (125  

4 (680  

5 (170   

5.  ��.MO �� �, *,%�/�  "%0 �$�%�  �x y−   *M�  M,%G      �$ �M�>�B W�M� X�M� �� K�M�,1 2 5V i j= −
� ��

   �M�

2 17 10V i j= +
� ��

 )��SI (*� �0� .-�$�>$  N 0$ ��>�B �)Z2� %� %/� ��� E0�/� 7�/C �  

1 (3 2     2 (5 2     3 (3  

4 (5    5 (3   

6. #�\ �� %V$ %
� RAC �� �>�) K*=P$ ]<0 �)�  ,%G �B �>�) �)�  �A  �>�) )� #�� ^�A<O$ �)%�> K�1_�>

 N 0$ #���> ���10 N
(g )

kg
= )�>�) #�� �A ��$�> ���) *,�A<O$ *=P$ ]<0 ).(   

1 (�4O  2 (2  

3 (3  4 (6  

5 (8  

g
/

cm3
13 6= -/�,ρ   

g

cm3
1= >�ρ   

N
g

kg
10=   
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7. ($�, *
����C ��,$)  7	 �� %
� ���1�P �$ J
 �%0N 0$ ��=� �$ %��
�C  

1 (Li3     2 (Mg12     3 (Na11   

4 (K19     5 (Ca20   

8. �� J
 ��
1V ($�,%��  D�> N  

1 (W�/5G    2 (@����G    3 (�A!N  

4 (%9&�3�    5 (+�"GRN  

9.  %
� *
����C ��,$) -���� ?��, a%P60% �C�� . 0$ -��> �>�$�� ��,$).  

3 2 2 2CH OH O CO H O+ → +  

 ����� �$%�10  3�A���2CO N 0$ (�b �c�D,$ 3�A��� ���  

1 (15    2 (9    3 (18  

4 (30    5 (25  

10. *� -�
� *
����C �>��� ��� d��2� �� ��/,)$ 3�A��� %� ��  N��C  

1 (24    2 (18    3 (25  

4 (20    5 (22  

11. m  0$ *��eU ���" .Xb���� -�f/0� %V$ {13 11 700
1

x y

y mx

+ =
= −

 �$�=� K�C�� �/C$� ]��O 7$��m ($�,  J


��
1V �$ *� %
� ���  N�C�� �>$��  

1 (4    2 (5    3 (6  

4 (7    5 (8   

12. g�1� (�D=� #
%�   ��M" )� ^%/�� ���"2 2 5n n+ +  )3 25 6 20n n n− + −  *M/T)n∈ℤ    �M�
1V ($�M,

*�> �>$��  N�C��  

1 (1    2 (2    3 (3  

4 (4    5 (5  

13. ���, a%PaKb  )c �<�$� �� �, ��C�� *=�=G *
����"  �M�  �7 8 4a b c− + =  )8 4 7a b c+ − =   h�MO

*� ���, .�$�=�2 2 2
a b c− +   0$ %�$%��� :  

1 (�4O    2 (+&    3 (��d*  

4 (F4$    5 (F9$  

14. �"��2� %
� ��� �� �"��2� �$ ��i" -� �  �1 2 3 20A { , , , ... , }=  %�$%� ��i" )� j�� R\�.�5  D�> N  

1 (�4O    2 (243    3 (256  

4 (1000    5 (1024   

15. xKy )z  ek� ) *=�=G �$�"$ ?
�$� ) �>$152x(y z)+ =K162y(z x)+ = )170z(x y)+ = �$�=�xyz N 0$ ($�,  

1 (672    2 (688    3 (704  

4 (720    5 (750  
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  سوالات اختصاصی

16. ������ �� ^%�/� W��  ,%G �SI ��
1V ��  0$ -�C -�$� %
� ��� .j�� ��
1V ($�, ��     M,%G  M:� -�V

%��_� *�> ��, N  

1 (x t t22 8= −     2 (x t t2 4 3= + −    3 (x t t26= − +  

4 (x t t210 5 30= − + −   5 (x t t2 12= −   

17.  %
��=� �$ �/0� ($�, �$�$ ��m   *�:M0 �$���>21 4 2y (m )x x= − − +    j�M� )  M0$ ?��M��� �$�$�   -�MV

����x  l<T $� ��*�> ��, N  

1 (( , )1 3     2 ([ , )2 5     3 ([ , ]3 1−   

4 (( , )1−∞     5 (( , )3 +∞  

18. *�:0 �$���>21 2 1 6y (k )x ( k )x= + + − − �<=> ��   3�U �� �$)2- (���� %�x 0$ m��� �� . �$ *�:0 #
$

�<=> �$ J
 ($�, *� %
� ���  N��ZV  

1 (
0
3

 
  

     2 (
8

132
 
  

     3 (
− 
 − 

8
213

   

4 ( 
 − 

10
216

     5 (
10
194
− 
 − 

   

19. 7$�� �"��2�  �������>  �2 1
2 1
x

| |
x

− >
+

  N 0$ X��O ($�, ��  

1 (( , ) ( , )
1 1 13
2 2 3

− − −∪   2( ( , ) ( , )
1 12 1
2 2

− − −∪   3 (( , )
13
2

− −  

4 (( , )
1 1
2 3

−     5 (m�$ .���  

20. ������    "%0 � �� *�D� ���� MSI  X��O ��5 3
2 4
t

V
t

−=
− +

  0$ .-��� ($�, ��  ?MD� *>��� � ��   M:� 

 ek� ����x *�  ,%G ��  N��,  

1 (( , )
10
2

     2 (( , )8 20     3 (( , )
31
2

   

4 (( , )
3 4
5

     5 ( Fd, �
 �9�=$ %#, )&� FAI��/Z�x�� F��� �$ �!� .  

- ������ "%0 � �� ?D� J
  SI  ���� IDG%��<�$� �$ �22 5 2V t t (m )= − − + − �� *�  0�  �M
	 .  ?MD�

�n�� �� �0t = ��A� ��3x m= − ��$� �$%T .3$�0 �� I��<� #
$ �� ���� ��  ���21 )22 ���� o0��:  

21. �=� �� �$�$ �� �$ �%
�m   :� Q!F �� -�$��� ?D�  ,%G  :�  ek�����x N��� ��$�F ��  

1 (m
3
2

> −     2 (m
9
8

< −     3 (m
4
7

>   

4 (m
12
5

<     5 (m
10
4

≤   
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22.  p�<���T %k,$�G %V$  "%0 �� %�$%� ^%�/� #
$20 m

s
 �$�=� K�C��m  N 0$ ($�,)   �M� %M�$%� $�  ,%G ����

10 �
%�f� %n> �� ��>�B  ) ���� *.��  :� �� ?D� �, ���, a%Px�� *�  ,%G ��,.(  

1 (4    2 (204 -    3 (176-  

4 (232    5 (m�$ .���  

23. ������ ���� �  ��
� �, *�)� ��
� m�A�� ) ��
%T �
�� ������ ��� �23 5 10 0x x+ − =  N 0$ ($�, K��C��  

1 (y y210 5 3 0− − =   2 (y y25 10 3 0− − =   3(y y210 5 3 0+ − =  

4 (y y25 10 3 0+ − =   5 (y y23 5 10 0− + =   

24. RO�G ��
� 7%\ ������ 1
��/� ) *=�=G ���  �2 24 3 4 5x x x x+ + = + +  N 0$ ($�,  

1 (2 -    2 (1    3 (2  

4 (4    5 (− 1
2

   

25. 0 %
� RAC ��: *�2y ax bx c= + +  $�),�aKb)c �>1
��/� )� �� )� ( -�%M, ?0� EF J
 �� -$%��  ?M
$ .

���� �� *�:0 ���F%� q�=> KEF r�e� �$ a%" ) r�e� �$ 3�U��� ��/D� X�s/t� .������  N 0$ ($�, EF �  

1 (y bx c= +   

2 (y cx b= +   

3 (y ax b= +   

4 (y ax c= +   

5 (y cx a= +   
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[ �
 F��0 W&W� ��@/��  �&�N �=5� x�� -��
 )�=d  �
 -�!!�! 

C/	 ��i...  

q&�G �G�"G
 ���3 ��W&W� �=0 ���R<� ?q3�!� �3 �8 �� z&�"  � �&�N ���3 2���� ��$  .��Y58 D� �� �3 F#&�3  

�&� /�{3 �&�N � �i��3
. )&� ���3 .�  �
 �� D� �� t�
� �/�!�  �!&W' ��� �3 
��� |Z� �3 � -
/=  
��� .��Y58 ��WP�
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